
‭Multiplication‬

‭MULTIPLICATION‬

‭I) Fill the missing factors:‬

‭1) ____ × 50 = 8000                                       2) ____ × 40 = 2000‬

‭3) 80 × ____ = 5600                                       4) 80 × ____ = 6400‬

‭5) ____ × 40 = 400                                          6) ____ × 100 = 8000‬

‭7) 200 × ____ = 8000                                     8) ____ × 40 = 5600‬

‭II) Find the Product :‬

‭1)100 × 1,000 =                                             2) 9 × 4,000 =‬

‭3) 40 × 800 =                                                  4) 900 × 3,000 =‬

‭5)3 × 6,000 =                                                 6) 3 × 8,000 =‬

‭7) 900 × 200 =                                               8) 700 × 80 =‬

‭III) Solve the following:‬

‭1)‬ ‭A group of 7 friends went on a trip to Mussoorie. They booked 7‬
‭rooms in a hotel. Each room cost  Rs.1,327 per day. Estimate the total‬
‭amount paid for 7 rooms for one day stay.‬

‭2)‬ ‭52 Students along with two teachers went on a school trip. If the cost‬
‭of one train ticket was Rs.  2,513, estimate the total ticket amount‬
‭paid for everyone, including the teachers .‬



‭3)‬ ‭Satya owns a stationary shop. Every year he sells 1,805 bundles of‬
‭course books from classes 1st to  5th. If each bundle costs Rs. 120,‬
‭estimate the total earning of Satya per year from the 1,805 bundles‬

‭IV) Fill in the blanks:‬

‭a)‬ ‭b)‬

‭285 × 15 = ___________________.‬ ‭543 × 23 = __________________.‬

‭c) 2,391 × 26 = __________________.          d) 849 × 21 = ___________________.‬


